®
- -
E icfluidpower
International Hydraulic Components

The Power Behind The Part.

Rotary Actuator

IC Series



icfluidpower

International Hydraulic Components



Index

CONTENTS
INdeX. . .o 2
Code GUIdE . . ..o 3
SErES OVBIVIEW . .ottt 4
L0 . 5
20 . 7
IC30 . 9
IC30 Flange Mounting Series. . . .. ..ottt e 11
G40 . 13
Helac Cross Reference Chart . ... ... . i 15
Counterbalance Valve Block . . ......... . 17
The IC DIfferenCe . . oo e 18
Eicfluigprczwer@ Index | 2



Code Guide

Actuator Model Code

Example:

IC10-25-360-Q F Y J-E
O 6 6 060 0

O seies| 01 IC20 IC30 IC40
g Torque 19, 28, 47
ouput | 203619916 1737105 140, 28, 50, 67
Torque/#%)g 10, 16, 27 27,72 180, é40 ' e
6 Angle
other | 180°, 360° 180° 180°, 360° 220°
avg]ila I%S)

G Output | Q front flange | Q front flange | Q front flange | H spindle
S double flange | S double flange
Z shaft output

6 Mount | H rear flange | D foot D foot Q front flange
M straddle H rear flange
Q front flange
D ralil

@ Counter- |y yithvave |V withvalve | Y withvalve | Y with valve
IN without valve | IN without valve | IN without valve | IN without valve

0 Thread | pLaNK metric | BLANK metric | BLANK metric | BLANK metric
Pattern | o imperial E imperial E imperial E imperial

3 | Code Guide Elicﬂuligprocwer



Series Overview

Operation Information for Standard Series

IC10 Series

Rotation

Max Drive Torque
Max Holding Torque
Max Moment
Mounting

IC20 Series

Rotation

Max Drive Torque

Max Holding Torque
Max Straddle Moment
Max Cantilever Moment
Mounting

IC30 Series

Rotation

Max Drive Torque

Max Holding Torque
Max Straddle Moment
Max Cantilever Moment
Mounting

IC40 Series

Rotation

Max Drive Torque
Max Holding Torque
Max Straddle Moment
Mounting

180°, 360°

180 - 2700NM
630 - 9400NM
560 - 11200NM
Flange

180°

500 - 4200 NM
1300 -10500 NM
2500 - 31600 NM
1360 - 15800 NM

Foot

180°, 360°
1900 - 24000 NM
4900 - 59000 NM

19200 - 256000 NM

5200 - 72900 NM
Foot, Flange

200°, 220°

2800 - 6700 NM
6100 -14300 NM
4200-10100 NM
Foot

IC10 Series

IC20 Series

o

IC30 Series

IC40 Series

icfluidpower

International Hydraulic Components

Series Overview | 4



IC10 Series

Technical Data

D2

Pal ~
P2/ NP1
Output Flange Rear End Cap
IC10 Series - Imperial (Metric)
Model 2 3 6 10 16 27
. in-lbs at 3,045psi
Drive Torque (Nm at 21MPa) 1,590 (180) 2,830 (320) 5,310 (600) 8850 (1,000) | 14,160 (1,600) | 23,890 (2,700)
. in-Ibs at 3,045psi 10,620

Holding Torque (Nm ot 21MP2) 5,570 (630) (1200) 16,310 (1,900) | 33,630 (3,800) | 50,440 (5,700) | 89,190 (9,400)
Max Cantilever Moment in-lbs (Nm) 4,950 (560) | 8,850 (1,000) | 19,470 (2,200) | 49,560 (5,600) | 79,650 (9,000) (99,120 (11,200)
Radial Capacity Ibs (kg) 1,980 (900) |2,970(1,350) | 4,070 (1,850) | 7,930 (3,600) | 10,970 (4,980) | 14,770 (6,700)
Axial Capacity Ibs (kg) 1,980 (900) | 2,970 (1,350) | 4,070 (1,850) | 7,930 (3,600) | 10,970 (4,980) | 14,770 (6,700)
Displacerment 180° cu in (cc) 3.9 (63.9) 7.4 (121) 11.7 (192) 22.3 (365) 33.7 (552) 55.8 (914)

P 360° cu in (cc) 14.8 (243) 23.4 (384) 44.7 (733) 674 (1,105) | 111.6(1,829)
Weight 180° Ibs (kg) 14.1 (6.4) 22.0 (10) 313142 57.3 (26) 95.5 (43.3) 125.7 (57)

g 360° Ibs (kg) 282 (12.8) 423 (19.2) 77.2 (35) 120.2 (54.5) 183.0 (83)
D1 Mounting Dia in (mm) 3.0(77.2) 35 (89) 4.0 (102) 5.0 (127) 5.8 (148) 7.3 (185)
D2 Housing Dia in (mm) 3.9 (100) 4.7 (119 5.3 (135) 6.7 (170) 7.8 (198) 8.9 (226)

*Specific chart for reference only, please consult drawing for actual value and tolerance.

5 | IC10 Series

®
E icfluidpower
International Hydraulic Components




IC10 Series (Continued)

Technical Data

L1

[

L2

A

D2

P2/ NP1
Output Flange Rear End Cap
IC10 Series - Imperial (Metric)
Model 2 3 6 10 16 27
F1 Tapoed Hol _ 5/16"-18 UFC | 5/16"-18 UFC | 3/8™-16 UFC 1/2"-13 UFC 1/2"13 UFC | 5/8™11 UFC
apped Hole in (mm) (M8 X 1.25) M8 X125 | (M1OX1.5) (M12 X 1.75) | M12 X 1.75) (M16 X 2)
F2 No. Tapped Holes QTY 8 8 12 12 12 12
F3 Bolt Circle Diameter, Shaft in (mm) 2.125 (54) 2.875 (73) 3.125 (80) 4.0 (102) 5.0 (127) 5.5 (140)
F4 Tapped Hole in (mm) 5/16"-18 UFC [5/16"-18 UFC| 3/8-16 UFC | 1/2-13UFC | 1/2"-13UFC | 1/2"-13 UFC
(M8X1.25) | (M8X1.25) | (MIOX15) | (M12X1.75) | (M12X1.75) | (M12X1.75)
F5 No. Tapped Holes QTY 8 8 12 12 12 12
F6 Bolt Circle Diameter, Housing_{in (mm) 3.386 (86) 4.055 (103) | 4.605 (117) 5.940 (151) 6.885 (175) 7.990 (203)
F7 Dia of Mount in (mm) 0.6 (14.3) 0.7 (17) 0.8 (21.4) 1.4 (35.7) 1.8 (45.7) 2.6 (66.7)
H1 Center Line to Valve Top in (mm) 3.1 (80) 3.5 (90) 3.9 (98) 45 (115) 5.1 (129) 5.6 (143)
L1 Length 180° in (mm) 5.5 (140) 5.6 (143) 6.1 (156) 7.2 (184) 8.8 (224) 9.5 (241)
360° in (mm) 7.4 (189) 83(212) 10.1 (258) 12.1 (311) 13.5 (346)
L2 Length 180° in (mm) 54 (138) 5.6 (142) 6.1 (154) 7.2 (182) 87 (221) 9.4 (239)
360° in (mm) 7.4 (188) 83 (211) 10.1 (256) 12.1 (308) 13.5 (344)
13 Distance to Valve 180° in (mm) 1.0 (25.4) 1.1 (26.9) 1.1(27.7) 1.1 (27.9) 15 (38.6) 1.7 (439)
360° in (mm) 09 (22.6) 1.0 (24.6) 1.7 (42.7) 2.4 (60.2) 2.8 (70.4)
) . 1ISO-11926 SAE Series. Sizes are 7/16.
P1 P2 Qil Port, Housing (1S0-1179-1 BSPP 'G' Series. Sizes are 1/8) See drawing for details.
V1 V2 0il Port Val 1ISO-11926 SAE Series. Sizes are 7/16.
th rort, valve (1S0-1179-1 BSPP 'G' Series. Sizes are 1/8) See drawing for details.

*Specific chart for reference only, please consult drawing for actual value and tolerance.

. - ®
E icfluidpower
International Hydraulic Components

IC10 Series (Cont.) | 6




IC20 Series

Technical Data

& &
1 ﬂ‘ ! . ;
7 W1
Rear End Cap Output Flange Rear End Cap s, | =
Output Flange
IC20 Series - Imperial (Metric)
Model 5 9 16 27 42
) in-Ibs at 3,045psi
Drive Torque (Nm at 21MPa) 4,420 (500) 7,960 (900) 14,160 (1,600) 23,710 (2,680) 37,170 (4,200)
Holding T in-ibs at 3045psi | 1) 500 (1300) | 21,240 (2400) | 38940 (4400) | 625840 (7,100) | 92,930 (10,500
olding Torque (Nm at 21MPa) ;500 (1,300) ,240 (2,400) ,940 (4,400) ,840 (7,100) ,930 (10,500)
Max Straddle Moment in-lbs (Nm) 22,120 (2,500) 39,820 (4,500) | 90,270 (10,200) | 145,150 (16,400) | 279,680 (31,600)
Max Cantilever Moment in-lbs (Nm) 12,030 (1,360) 21,940 (2,480) 47,970 (5,420) 100,010 (11,300) | 139,840 (15,800)
Radial Capacity Ibs (kg) 3,040 (1,380) 4,690 (2130) 9,230 (4,190) 12,300 (5,580) 21,010 (9,530)
Axial Capacity Ibs (kg) 1,100 (500) 1,490 (680) 2,200 (1,000) 3,080 (1,400) 3,900 (1,770)
Displacement 180° cu in (cc) 8.1 (132) 14.3 (234) 26.6 (436) 44.3 (726) 65.3 (1,070)
Weight 180° Ibs (kg) 27.6 (12.5) 37.5(17) 66.1 (30) 1124 (51) 169.8 (77)
*Specific chart for reference only, please consult drawing for actual value and tolerance.
7 | IC20 Series Elcﬂu-dpower
International Hydraulic Components



IC20 Series (Continued)

Technical Data

IC20 Series - Imperial (Metric)
Model 5 9 16 27 42
D1 Mounting Dia in (mm) 4.1 (104) 46 (117) 5.6 (142) 6.7 (170) 7.7 (196)
D2 Housing Dia in (mm) 40 (101) 45 (114) 5.5 (139) 6.5 (165) 7.5 (191)
4 T Mol . 3/8"16 UFC 3/8"16 UFC 1/2"-13 UFC 3/4"-10 UFC 3/4"-10 UFC
Elp[pEe] el in (mm) (M10 X 1.5) (M10 X 1.5) (M12 X 1.75) (M20 X 2.5) (M20 X 2.5)
F2 No. Tapped Holes QTY 6 8 8 8 10
F3 Bolt Circle Diameter, Shaftiin (mm) 2.1 (53.9) 2.6 (65) 3.3(85) 4.0 (102) 48 (121)
F4 Shaft Through Hole Dia  in (mm) 3/4" UFC (M20) 1" UFC (M24) 1" UFC (M24)
) . . B . 11/4" UFC
F5 Foot Tapped Hole in (mm) 5/8" UFC (M16) | 3/4" UFC (M20) | 1"UFC (M24) 1" UFC (M24) (M30)
. ) 1"-8 UFC. 11/4"-7 UFC
F6 Shaft Through Hole Dia in (mm) (M24 X 3) (M30 X 3.5)
) 1/2"-13 UFC 5/8"-11 UFC
F7 Flange Tapped Hole in (mm) (M12 X 1.75) (M16 X 2)
F8 No. of Tapped Holes QTY 8 10
F9 Pitch of Tapped Hole in (mm) 4.3 (108) 4.8 (121)
IC20 Series - Imperial (Metric)
Model 5 9 16 27 42
H1 Height Without )
Counterbalance Valve in (mm) 4.7 (119) 5.3 (135) 6.2 (158) 7.6 (193) 8.6 (218)
H2 Height of Center Shaft in (mm) 2.6 (66) 3.0 (76.2) 3.4 (85.9) 4.3 (108) 48 (121)
H3 Foot Height in (mm) 1.4 (34.3) 1.5(38.1) 1.8 (44.5) 2.5 (63.5) 2.8 (70)
H4 Total Height in (mm) 5.7 (146) 6.4 (163) 7.3 (185) 8.7 (220) 9.6 (245)
L1 Total Length in (mm) 7.4 (188) 8.5 (216) 9.8 (248) 11.7 (298) 13.3(337)
L2 Length Without Flange in (mm) 6.8 (173) 7.8 (197) 9.0 (229) 10.9 (276) 124 (314)
L3 Dist. Between Flange and .
Counterbalance Valve in (mm) 1.3(32) 1.4 (34.5) 1.8 (44.7) 1.9 (48.8) 1.9 (49)
L4 Mounting Length in (mm) 44 (111) 5.5 (140) 6.0 (152) 7.2 (184) 8.5 (216)
L5 Flange Mounting Hole in (mm) 1.5(37.9) 1.5 (37.6) 1.9 (47) 2.3(57.2) 2.4 (60.5)
W1 Mounting Width in (mm) 5.7 (145) 6.0 (152) 7.8 (197) 8.7 (222) 10.5 (267)
W2 Overall Width in (mm) 7.0 (178) 7.5 (191) 9.8 (248) 11.0 (279) 13.0 (330)
P1 P2 Qil Port, Housing ISO-11926 SAE Series. Sizes are 7/16. See drawing for details.
V1 V2 Qil Port, Valve ISO-11926 SAE Series. Sizes are 7/16. See drawing for details.

*Specific chart for reference only, please consult drawing for actual value and tolerance.

Eilcftluigpewel"' IC20 Series (Cont.) | 8



IC30 Series

Technical Data

L1

L2

D1

= 1

L5 L4

Rear End Cap | | e/

Output Flange

IC30 Series - Imperial (Metric)

Model 19 28 47 73 105 140 180 240

Drive T in-Ibs at 3,045psi 16,810 24,780 41,590 64,610 92,930 123910 159,310 212,410
rive forque (Nm at 21MPa) (1,900) (2,800) (4,700) (7.300) (10,500) (14,000) (18,000) (24,000
Holding T in-Ibs at 3,045psi 43,360 60,180 106,200 159,310 230,110 309,770 407,130 522,190
olding forque (Nm at 21MPa) (4,900) (6,800) (12,000) (18,000) (26,000) (35,000) (46,000) (59,000)
Max Cantilever Moment o lbs (N 46,020 62,840 105,320 162,850 261,090 343,400 494,750 645,210
ax Catnulierer Iomei T (A (5,200) (7,100) (11,900) (18,400) (29,500) (38,800) (55,900) (72,900)

118,590 149,570 272,600 423,060 664,690 875,330 1,155020 | 1,504,620

180%indbs (Nm) | 13200) | (169000 | (30800) | 478000 | (751000 | 98900y | (130500) | (170,000)

360° indbs (N 169,930 217,720 401,820 630,170 986,850 1,292,200 | 1749790 | 2270210
indbs (Nm) | 19 500) (24,600) (45,400) (71,200) (111,500) | (146,000) | (197,700) | (256,500)

Max Straddle Moment

Radial Canaci 1bs (K 3,960 5070 7930 11,020 14,990 18070 22,040 26,010
adial Capacity s (ke) (1,800) (2,300) (3,600) (5,000) (6,800) (8,200) (10,000) (11,800)
Axial Capacity Ibs (kg) 3,080 (1,400) 3,960 (1,800) | 5,950 (2,700) | 7,930 (3,600) [9,920 (4,500) (153&%; (164:50(; (15 '2(2,70(;

*Specific chart for reference only, please consult drawing for actual value and tolerance.

9 | IC30 Series Eicfluidpowef

International Hydraulic Components



IC30 Series (Continued)

Technical Data

IC30 Series - Imperial (Metric)
Model 19 28 47 73 105 140 180 240
180° cu in (cc) 30.0(492) | 42.0(688) | 72.0(1,180) |114.1(1,870)[163.5 (2,680)|216.0 (3,540) | 283.8 (4,650) [366.1 (6,000)
Displacement
360°cuin(cc) | 598(980) | 848 (1390) |1440 (2360) |2282 (3740) [327.1 (5,360 4320 (7080) 5687 (9320) | 172%50)
Weight 180° Ibs (kg) 70 (34.5) 110 (50) 150 (725) | 240(110) | 350(160) | 480(220) | 610(280) | 790 (360)
360° Ibs (kg) 100 (455) | 130(63.4) | 220(100) | 300(140) | 440(200) | 630(290) | 810(370) [ 1,000 (455)
D1 Mounting Dia in (mm) 5.5 (139) 6.1 (155) 7.2 (183) 8.2 (209) 9.2 (234) 104 (263) | 11.3(288) | 12.2(310)
D2 Housing Dia in (mm) 5.5 (140) 6.0 (152) 7.0 (178) 8.0 (203) 9.0 (229) 100(254) | 11.0(279) | 12.0(305)
F1 Tapped Hole in (mm) 1/2"-13 UFC | 5/8"-11 UFC | 3/4"-10 UFC 7/8"-9 UFC 1"-8 UFC 11/8"7 UFC | 11/8"7 UFC | 1 1/4"-7 UFC
M12X 1.75) | (M16 X 2) (M20 X 25) | (M22 X 2.5) (M24 X 3) (M27 X 3) (M27 X 3) (M30 X 3.5)
F2 No. Tapped Holes QTY 12 12 12 12 12 12 12 12
F3 Bolt Circle Diameter, Shaft in (mm) 45 (115) 49 (125) 5.9 (150) 6.7 (170) 7.7 (195) 85 (215) 9.4 (240) 10.0 (255)
F4 Flange Tapped Hole in (mm) 3/8"-16 UFC | 1/2"-13 UFC | 5/8"-11 UFC | 3/4"-10 UFC | 7/8'-9 UFC 1"8 UFC 1"8UFC [11/8"-7 UFC
(M10X 1.5) |(M12X 1.75) | (M16X2) | (M20X25) | (M22X25) | (M24X3) | (M27X3) (M27 X 3)
F5 No. Tapped Holes QTY 12 12 12 12 12 12 12 12
F6 Bolt Circle Diameter, End Cap {in (mm) 43 (108) 4.7 (120) 5.2 (133) 5.9 (150) 6.7 (170) 7.5 (190) 83 (210) 9.1 (230)
F7 Dia of Mounting Hole in (mm) 5/8" UFC 3/4" UFC 7/8" UFC 1" UFC 11/8"UFC | 11/4"UFC | 13/8"UFC | 13/8"UFC
(M16) (M20) (M22) (M24) (M27) (M30) (M36) (M36)
IC30 Series - Imperial (Metric)
Model 19 28 47 73 105 140 180 240
callvie'ghtw'tm“t L 61(156) | 73(186) | 83(212) | 94(240) | 109(276) | 120(305) | 129(327) | 143 (362)
H2 Center Height Hole in (mm) 3.1 (80) 3.7 (94.9) 4.3 (108) 4.8 (122) 5.5 (140) 6.1 (154) 6.5 (165) 7.2 (184)
H3 Foot Height in (mm) 1.9 (48) 2.8 (70) 3.1 (78) 3.5 (88) 4.1 (105) 43 (110) 4.7 (120) 5.3 (135)
H4 Total Height in (mm) 7.0 (179) 7.9 (201) 89 (226) 107 (271) | 11.1(283) | 12.2(310) | 13.1(334) | 14.4 (366)
L1 Total Length 180° in (mm) 11.7(298) | 12.7(323) | 144(365) | 163(413) | 187 (475) | 20.6(524) | 21.7 (551) | 23.6(600)
360° in (mm) 168(427) | 185(470) | 21.2(538) | 24.2(615) | 27.8(705) | 30.6(776) | 329(836) | 35.7(906)
L2 Length Without Flange 180° in (mm) 103 (261) | 11.3(286) | 12.7(323) | 143(363) | 17.0(431) | 182(463) | 19.4(493) | 21.0(534)
360° in (mm) 154(392) | 17.0(433) | 195(496) | 222(565) | 26.0(661) | 28.1(715) | 305(775) | 33.2(843)
L3 Dist. Between Flange and 180° in (mm) 3.0(75.2) 5.3 (134) 5.6 (143) 5.1 (130) 6.0 (152) 7.3 (185) 7.7 (196) 8.7 (221)
Counterbalance Valve 360° in (mm) 5.9 (149) 6.2 (157) 7.8 (197) 9.1 (232) 105(267) | 12.1(308) | 13.3(338) | 14.7 (374
L4 Mounting Length 180° in (mm) 9.0 (229) 9.8 (248) 11.1(281) | 124 (314) | 147 (374) | 15.7(400) | 168(426) | 181 (460)
360° in (mm) 14.1(358) | 156(395) | 17.9(454) | 203(516) | 23.8(604) | 25.7 (652) | 27.9(708) | 30.2 (766)
L5 Flange Mounting Hole 180° in (mm) 1.5 (38.1) 1.7 (43.9) 2.0 (50) 2.2 (56.9) 2.4 (59.9) 29 (74.2) 3.0 (75.9) 3.1 (80)
W1 Mounting Width in (mm) 7.5 (190) 9.1 (230) 102 (260) | 11.8(300) | 134 (340) | 15.0(380) | 16.1(410) | 17.7 (450)
W2 Total Width in (mm) 8.7 (222) 106 (268) | 12.2(310) | 138(350) | 15.7(400) | 17.6(447) | 19.1 (484) | 209 (530)
P1 P2 Oil Port, Housing 1SO-11926 SAE Series. Sizes vary from 7/16 to 3/4.
’ (ISO-1179-1 BSPP 'G" Series. Sizes vary from 1/4 to 1/2.) See drawing for details.
V1 V2 Ol Port. Valve 1SO-11926 SAE Series. Sizes vary from 7/16 to 3/4.
’ (ISO-1179-1 BSPP 'G' Series. Sizes vary from 1/4 to 1/2.) See drawing for details.

*Specific chart for reference only, please consult drawing for actual value and tolerance.

Eicﬂuidpower@ IC30 Series (Cont.) | 10

International Hydraulic Components



IC30 Flange Mounting Series

Technical Data

L4

L1 "
- L2 -
LS o va.n
//—*
‘ I @éﬁﬂ—rm —1]
P1 P2 =
sl gl g el & P! ‘Bl !
J

Kot Output Flange
IC30 Flange Mounting Series - Imperial (Metric)
Model 19 28 47 73 105 140 180 240
Drive T in-Ibs at 3,045psi 16810 24,780 41,590 64,610 92,930 123910 159310 212410
VelloratE (Nm at 21MPa) (1,900) (2,800) (4,700) (7,300) (10500) | (140000 | (18000) | (24,000)
Holding T in-bs at 3,045psi | 43,360 60,180 106,200 159310 230,110 309,770 407,130 522,190
olding Torque (Nm at 21MPa) (4,900) (6,800) (12,000) (18,000) (26,000) (35,000) (46,000) (59,000)
N inbs (N 46,020 62,840 105,320 162,850 261,090 343,400 494,750 645,210
(5,200) (7,100) (11,900) (18,400) (29,500) (38,800) (55,900) (72,900)
180° indbs (N 118590 149570 272,600 423,060 664,690 875,330 1155020 | 1,504,620
in-bs (Nm) | (13.400) (16,900) (30,800) (47,800) (75,100) (98,900) (130,500) | (170,000)
Max straddle moment
360° inbs (N 169,930 217,720 401,820 630,170 986,850 1292200 | 1749790 | 2270210
indbs (Nm) |19 500) (24,600) (45,400) (71200) | (111,500) | (146000) | (197,700) | (256,500)
. . 11,020 14,990 18070 22,040 26,010
Radial capacity Ibs (kg) 3960 (1,800) [5070 (2300|7930 (3600)| (5000, (6800) 8200) (10000) (11.800)
. . 13,000 14,990 18070
Axial capacity Ibs (kg) 3,080 (1,400) (3,960 (1,800) 5,950 (2,700) | 7,930 (3600) [9920 (4500) | 5000, (6:800) (8.200)

*Specific chart for reference only, please consult drawing for actual value and tolerance.

11 | IC30 Flange Series

®
E icfluidpower
International Hydraulic Components



IC30 Flange Mounting Series
(Continued)

Technical Data

IC30 Flange Mounting Series - Imperial (Metric)
Model 19 28 47 73 105 140 180 240
180° cu in (cc) 30.0 (492) 42,0 (688) | 72.0(1180) [114.1 (1870) |163.5 (2,680)|216.0 (3,540) [283.8 (4,650) |366.1 (6,000)
Displacement 7323
360° cu in (cc) 59.8 (980) | 84.8(1,390) |144.0 (2,360) [228.2 (3,740) |327.1 (5,360) |432.0 (7,080) [568.7 (9,320) (12’060)
Weight 180° Ibs (kg) 70 (34.5) 110 (50) 150 (72.5) 240 (110) 350 (160) 480 (220) 610 (280) 790 (360)
360° Ibs (kg) 100 (455) | 130(634) | 220(100) | 300(140) | 440(200) | 630(290) | 810(370) | 1,000 (455)
D1 Total Flange Dia in (mm) 7.9 (200) 9.3 (235) 11.0 (280) 124 (315) 14.0 (355) 15.6 (396) 17.4 (442) 18.7 (475)
D2 Pilot Dia in (mm) 5.9 (150) 6.9 (175) 8.1 (205) 9.1 (230) 102 (260) | 11.4(290) | 124 (315) | 134 (340)
D3 Mounting Disk in (mm) 5.5 (139) 6.1 (155) 7.2 (183) 8.2 (209) 9.2 (234) 10.4 (263) 11.3 (288) 12.2 (310)
D4 Housing Dia in (mm) 5.5 (140) 6.0 (152) 7.0 (178) 8.0 (203) 9.0 (229) 10.0 (254) 11.0 (279) 12.0 (305)
F1 Tapped Hole in (mm) 1/2"13 UFC | 5/8"-11 UFC | 3/4"-10 UFC | 7/8"-9 UFC 18 UFC | 11/8"-7 UFC |1 1/8"7 UFC | 1 1/4"7 UFC
(M12X1.75) | M16X2) | (M20X 2.5) | (M22 X 25) | (M24 X 3) (M27 X 3) (M27 X 3) | (M30 X 3.5)
F2 No. Tapped Holes QTY 12 12 12 12 12 12 12 12
F3 Bolt Circle Diameter, Shaft in (mm) 45 (115) 49 (125) 5.9 (150) 6.7 (170) 7.7 (195) 8.5 (215) 9.4 (240) 10.0 (255)
= Pt T s e in (mm) 3/8"16 UFC | 1/2"13 UFC | 5/8"™11 UFC | 3/4"-10 UFC | 7/8"9 UFC 18 UFC |1 1/8"7 UFC [ 1 1/8"7 UFC
(M10X 1.5) | M12X175) [ M16X2) | (M20X25) | (M22X25) | (M24X3) (M27 X 3) (M27 X 3)
F5 No. Tapped Holes QTY 12 12 12 12 12 12 12 12
F6 Bolt Circle Diameter, Housing in (mm) 6.9 (175) 8.1 (206) 9.6 (245) 108 (275) | 122 (310) | 136(345) | 15.0(380) | 16.1 (410)

IC30 Flange Mounting Series - Imperial (Metric)
Model 19 28 47 73 105 140 180 240
H1 Center Line to Valve Top in (mm) 39 (99.1) 4.2 (106) 46 (118) 52 (131) 5.7 (144) 6.1 (156) 6.7 (169) 7.2(182)
L1 Total Length 180° in (mm) 11.7 (298) 12.7 (323) 14.4 (365) 16.3 (413) 18.7 (475) 20.6 (524) 21.7 (551) 23.6 (600)
g 360° in (mm) 168 (427) | 185(470) | 21.2(538) | 24.2(615) | 27.8(705) | 306(776) | 32.9(836) | 35.7 (906)
L2 Length Without Flange 180 ?n (mm) 10.3 (261) 11.3 (286) 12.7 (323) 14.3 (363) 17.0 (431) 18.2 (463) 19.4 (493) 21.0 (534)
360° in (mm) 15.4 (392) 17.0 (433) 19.5 (496) 22.2 (565) 26.0 (661) 28.1 (715) 30.5 (775) 33.2(843)
L3 Dist. Between Flange and 180° in (mm) 3.0(75.2) 5.3 (134) 5.6 (143) 5.1 (130) 6.0 (152) 7.3 (185) 7.7 (196) 8.7 (221)
Counterbalance Valve 360° in (mm) 5.9 (149) 6.2 (157) 7.8 (197) 9.1 (232) 10.5 (267) | 12.1(308) | 13.3(338) | 14.7 (374)
L4 Mounting Flange Thickness in (mm) 1.0 (25.2) 1.0 (26) 1.2 (31) 1.3 (33) 1.6 (40) 1.7 (42) 1.8 (46) 2.0 (52)
L5 Outer Flange to Inner Flange in (mm) 1.1 (27) 1.3(32) 1.4 (35) 1.7 (42) 1.6 (40) 2.1 (53) 2.1 (54) 2.2 (56)
P1 P2 Oil Port. Housi 1SO-11926 SAE Series. Sizes vary from 7/16 to 3/4.
W FEIM, [P (1SO-1179-1 BSPP 'G' Series. Sizes vary from 1/4 to 1/2.) See drawing for details.
. 1SO-11926 SAE Series. Sizes vary from 7/16 to 3/4.
V1 V2 Oil Port, Valve ) . . .
(1SO-1179-1 BSPP 'G' Series. Sizes vary from 1/4 to 1/2.) See drawing for details.

*Specific chart for reference only, please consult drawing for actual value and tolerance.

Eicfluidpower@ IC30 Flange Series (Cont.) | 12

International Hydraulic Components



IC40 Series

Technical Data

D2

L1

L2

L3

V2 V1 L6 L9
TN ox A—
L7 N — © —
P P2 |
z o o= ©
w1 F3
w2 LS L4 L8
IC40 Series - Imperial (Metric)
Model 28 50 67
. in-lbs at 3,045psi
Drive Torque (Nm 2t 21MPa) 24,780 (2,800) | 44,250 (5,000) 59,290 (6,700)
Holding Torque In-Ibs at 3045psi | 53995 6100) | 93810 (10600) | 126,560 (14,300)
(Nm at 21MPa)
Standard Rotation 220° 220° 200°
in-lbs at 3,045psi

Max Straddle Moment (Nm 2t 21MPa) 37,170 (4,200) 67,260 (7,600) 89,390 (10,100)
Radial Capacity Ibs (kg) 4,490 (2,040) 6,900 (3,130) 8,590 (3,900)
Axial Capacity Ibs (kg) 4,490 (2,040) 6,900 (3,130) 8,590 (3,900)
Displacement cu in (cc) 47.3 (775) 83.0 (1,360) 100.7 (1,650)
Weight Ibs (kg) 70 (33.6) 120 (58) 160 (75)

*Specific chart for reference only, please consult drawing for actual value and tolerance.

13 | IC40 Series

®
E icfluidpower
International Hydraulic Components



IC40 Series (Continued)

Technical Data

IC40 Series - Imperial (Metric)

Model 28 50 67

D1 Housing Dia in (mm) 5.5 (140) 6.5 (165) 7.0 (178)
Ejagf;‘g‘iaa' Spline in (mm) 3.1 (80) 3.5 (89.9) 39(983)
F1 Shaft Spline in (mm) For metric and imperial dimensions, see drawing.
F2 Shaft Spline . 1/2"-13 UFC 1/2"-13 UFC 5/6'-18 UFC
Mounting Hole in (mm) (M12 X 1.75) (M12 X 1.75) (M12 X 1.75)

. . 5/8"-11 UFC 3/4"-10 UFC 7/8'9 UFC
F3 Foot Mounting Hole {in (mm) (M16 X 2) (M20 X 2.5) (M22 X 2.5)
H1 Height Without .
Countegrbalance Valve in (mm) 5.9 (150) 6.9(176) 80 (203)
H2 Center Height Hole |in (mm) 29 (73.2) 33(83.9) 40 (102)
H3 Total Height in (mm) 6.8 (173) 7.7 (196) 8.7 (220)

IC40 Series - Imperial (Metric)
Model 28 50 67

L1 Total Length With )
Optional Ad agpter in (mm) 17.0 (431) 22.1 (561) 23.9 (608)
L2 Total Length Without i,
Optional Ad agpter in (mm) 16.4 (417) 21.5 (546) 22.8 (579)
FLaitTa%tj; S L Ty — 13.2 (335) 16.6 (422) 17.5 (445)
kfotzﬁg of Foot in {mm) 104 (265) 12,6 (320) 12,6 (320)
t?s'\f;:t”t'”g e T 3.0(75.1) 44 (113) 5.1 (130)
L6 Shaft Extension in (mm) 1.6 (409) 24 (61.9) 2.7 (67.6)
L7 Spline Length in (mm) 0.8 (20.6) 1.6 (40) 1.9 (49)
:i;;{gfth of Optional 1 mm) 1.3 (325) 2.1 (526) 2.4 (60.5)
mu":t?f;h of Foot in (mm) 4.1 (104) 5.5 (140) 59 (150)
W2 Overall Width in (mm) 5.2 (133) 6.7 (170) 8.0 (203)

P1 P2 Qil Port, Housing

1ISO-11926 SAE Series. Sizes vary from 7/16 to 9/16.
(I1SO-1179-1 BSPP 'G' Series. Sizes vary from 1/8 to 1/4.)

See drawing for details.

V1 V2 Qil Port, Valve

ISO-11926 SAE Series. Sizes vary from 7/16 to 9/16.
(ISO-1179-1 BSPP 'G' Series. Sizes vary from 1/8 to 1/4.)

See drawing for details.

*Specific chart for reference only, please consult drawing for actual value and tolerance.

icfluidpower

International Hydraulic Components

IC40 Series (Cont.) | 14




Helac Drop-In Replacement

IC10 Series

IC30 Series

ICFP Number

Helac Part Number

ICFP Number

Helac Part Number

IC10-003-180-QHWJ-E

L10-3.0-E-RF-180-S1-0-H

1C30-019-180-QDWJ-E

L30-17-E-FT-180-S1-0-H

IC10-003-360-QHWJ-E

L10-3.0-E-RF-360-S1-0-H

1C30-019-360-QDWJ-E

L30-17-E-FT-360-S1-0-H

IC10-006-180-QHWJ-E

L10-5.5-E-RF-180-S1-0-H

1C30-028-180-QDWJ-E

L30-25-E-FT-180-S1-0-H

IC10-006-360-QHWJ-E

L10-5.5-E-RF-360-S1-0-H

IC10-010-180-QHWJ-E

L10-9.5-E-RF-180-S1-0-H

1C30-028-360-QDWJ-E

L30-25-E-FT-360-S1-0-H

1C30-047-180-QDWJ-E

L30-42-E-FT-180-S1-0-H

IC10-010-360-QHWJ-E

L10-9.5-E-RF-360-S1-0-H

1C30-047-360-QDWJ-E

.30-42-E-FT-360-S1-0-H

IC10-016-180-QHWJ-E

L10-15-E-RF-180-S1-0-H

1C30-073-180-QDWJ-E

L30-65-E-FT-180-S1-0-H

IC10-016-360-QHWJ-E

L10-15-E-RF-360-S1-0-H

1C30-073-360-QDWJ-E

L30-65-E-FT-360-S1-0-H

IC10-027-180-QHWJ-E

L10-25-E-RF-180-S1-0-H

1C30-105-180-QDWJ-E

L30-95-E-FT-180-S1-0-H

IC10-027-360-QHWJ-E

L10-25-E-RF-360-S1-0-H

1C30-105-360-QDWJ-E

L30-95-E-FT-360-S1-0-H

1C30-140-180-QDWJ-E

L30-125-E-FT-180-S1-0-H

1C10-003-180-QHYJ-E

L10-3.0-E-RF-180-S1-C-H

1C30-140-360-QDWJ-E

L30-125-E-FT-360-S1-0-H

1C10-003-360-QHYJ-E

L10-3.0-E-RF-360-S1-C-H

1C30-180-180-QDWJ-E

L30-165-E-FT-180-S1-0-H

1C10-006-180-QHYJ-E

L10-5.5-E-RF-180-S1-C-H

1C30-180-360-QDWJ-E

L30-165-E-FT-360-S1-0-H

1C10-006-360-QHYJ-E

L10-5.5-E-RF-360-S1-C-H

1C30-240-180-QDWJ-E

L30-215-E-FT-180-S1-0-H

1C10-010-180-QHYJ-E

L10-9.5-E-RF-180-S1-C-H

1C30-240-360-QDWJ-E

L30-215-E-FT-360-S1-0-H

1C10-010-360-QHYJ-E

L10-9.5-E-RF-360-S1-C-H

1C30-019-180-QQWJ-E

L.30-17-E-FF-180-S1-0-H

1C10-016-180-QHYJ-E

L10-15-E-RF-180-S1-C-H

1C30-019-360-QQWJ-E

L30-17-E-FF-360-S1-0-H

1C10-016-360-QHYJ-E

L10-15-E-RF-360-S1-C-H

1C30-028-180-QQWJ-E

.30-25-E-FF-180-S1-0-H

1C10-027-180-QHYJ-E

L10-25-E-RF-180-S1-C-H

1C30-028-360-QQWJ-E

L30-25-E-FF-360-S1-0-H

1C10-027-360-QHYJ-E

L10-25-E-RF-360-S1-C-H

1C30-047-180-QQWJ-E

L30-42-E-FF-180-S1-0-H

1C30-047-360-QQWJ-E

L.30-42-E-FF-360-S1-0-H

1C30-073-180-QQWJ-E

L30-65-E-FF-180-S1-0-H

IC20 Series

1C30-073-360-QQWJ-E

L30-65-E-FF-360-S1-0-H

1C30-105-180-QQWJ-E

L30-95-E-FF-180-S1-0-H

ICFP Number

Helac Part Number

1C30-105-360-QQWJ-E

L30-95-E-FF-360-S1-0-H

1C30-140-180-QQWJ-E

L30-125-E-FF-180-S1-0-H

1C20-005-180-QDWJ-E

L20-4.5-E-FT-180-S1-0-H

1C30-140-360-QQWJ-E

L30-125-E-FF-360-S1-0-H

1C20-009-180-QDWJ-E

L20-8.2-E-FT-180-S1-0-H

1C30-180-180-QQWJ-E

L30-165-E-FF-180-S1-0-H

1C20-016-180-QDWJ-E

L20-15-E-FT-180-S1-0-H

1C30-180-360-QQWJ-E

L30-165-E-FF-360-S1-0-H

1C20-027-180-QDWJ-E

L20-25-E-FT-180-S1-0-H

1C30-240-180-QQWJ-E

L30-215-E-FF-180-S1-0-H

1C20-042-180-QDWJ-E

L20-39-E-FT-180-S1-0-H

1C30-240-360-QQWJ-E

L30-215-E-FF-360-S1-0-H

1C20-005-180-QDYJ-E

L20-4.5-E-FT-180-S1-C-H

1C30-019-180-QDYJ-E

L30-17-E-FT-180-S1-C-H

1C20-009-180-QDYJ-E

L20-8.2-E-FT-180-S1-C-H

1C30-019-360-QDYJ-E

L30-17-E-FT-360-S1-C-H

1C20-016-180-QDYJ-E

L20-15-E-FT-180-S1-C-H

1C30-028-180-QDYJ-E

L30-25-E-FT-180-S1-C-H

1C20-027-180-QDYJ-E

L20-25-E-FT-180-S1-C-H

1C30-028-360-QDYJ-E

L30-25-E-FT-360-S1-C-H

1C20-042-180-QDYJ-E

L20-39-E-FT-180-S1-C-H

1C30-047-180-QDYJ-E

L30-42-E-FT-180-S1-C-H

1C30-047-360-QDYJ-E

L30-42-E-FT-360-S1-C-H

1C20-005-180-SDWJ-E

L20-4.5-E-FT-180-S2-0-H

1C30-073-180-QDYJ-E

L30-65-E-FT-180-S1-C-H

1C20-009-180-SDWJ-E

L20-8.2-E-FT-180-S2-0-H

1C30-073-360-QDYJ-E

L30-65-E-FT-360-S1-C-H

1C20-016-180-SDWJ-E

L20-15-E-FT-180-S2-0-H

1C30-105-180-QDYJ-E

L30-95-E-FT-180-S1-C-H

1C20-027-180-SDWJ-E

L20-25-E-FT-180-S2-0-H

IC30-105-360-QDYJ-E

L.30-95-E-FT-360-S1-C-H

1C20-042-180-SDWJ-E

L20-39-E-FT-180-S2-0-H

1C30-140-180-QDYJ-E

L30-125-E-FT-180-S1-C-H

1C30-140-360-QDYJ-E

L30-125-E-FT-360-S1-C-H

1C20-005-180-SDYJ-E

L20-4.5-E-FT-180-S2-C-H

1C30-180-180-QDYJ-E

L30-165-E-FT-180-S1-C-H

1C20-009-180-SDYJ-E

L20-8.2-E-FT-180-S2-C-H

1C30-180-360-QDYJ-E

L30-165-E-FT-360-S1-C-H

1C20-016-180-SDYJ-E

L20-15-E-FT-180-S2-C-H

1C30-240-180-QDYJ-E

L.30-215-E-FT-180-S1-C-H

1C20-027-180-SDYJ-E

L20-25-E-FT-180-S2-C-H

1C30-240-360-QDYJ-E

L30-215-E-FT-360-S1-C-H

1C20-042-180-SDYJ-E

L20-39-E-FT-180-S2-C-H

1C30-019-180-QQYJ-E

L30-17-E-FF-180-S1-C-H

15 | Helac Drop-In Replacement

®
E icfluidpower
International Hydraulic Components




Helac Drop-In Replacement

IC30 Series (Cont.)

ICFP Number

Helac Part Number

IC30 Series (Cont.)

ICFP Number Helac Part Number

IC30-019-360-QQYJ-E

L30-17-E-FF-360-S1-C-H

1C30-028-360-SDYJ-E L30-25-E-FT-360-S2-C-H

1C30-028-180-QQYJ-E

.30-25-E-FF-180-S1-C-H

1C30-047-180-SDYJ-E L30-42-E-FT-180-S2-C-H

1C30-028-360-QQYJ-E

L30-25-E-FF-360-S1-C-H

IC30-047-180-QQYJ-E

.30-42-E-FF-180-S1-C-H

1C30-047-360-SDYJ-E L30-42-E-FT-360-S2-C-H

1C30-047-360-QQYJ-E

L30-42-E-FF-360-S1-C-H

1C30-073-180-SDYJ-E L30-65-E-FT-180-S2-C-H

IC30-073-180-QQYJ-E

L30-65-E-FF-180-S1-C-H

1C30-073-360-SDYJ-E L30-65-E-FT-360-S2-C-H

1C30-073-360-QQYJ-E

L30-65-E-FF-360-S1-C-H

1C30-105-180-SDYJ-E L.30-95-E-FT-180-S2-C-H

IC30-105-180-QQYJ-E

L30-95-E-FF-180-S1-C-H

1C30-105-360-SDYJ-E L30-95-E-FT-360-S2-C-H

IC30-105-360-QQYJ-E

L30-95-E-FF-360-S1-C-H

1C30-140-180-SDYJ-E L30-125-E-FT-180-S2-C-H

1C30-140-180-QQYJ-E

L30-125-E-FF-180-S1-C-H

1C30-140-360-SDYJ-E L.30-125-E-FT-360-S2-C-H

IC30-140-360-QQYJ-E

L.30-125-E-FF-360-S1-C-H

1C30-180-180-SDYJ-E L30-165-E-FT-180-S2-C-H

IC30-180-180-QQYJ-E

L30-165-E-FF-180-S1-C-H

1C30-180-360-SDYJ-E L30-165-E-FT-360-S2-C-H

IC30-180-360-QQYJ-E

L30-165-E-FF-360-S1-C-H

1C30-240-180-SDYJ-E L30-215-E-FT-180-S2-C-H

IC30-240-180-QQYJ-E

L30-215-E-FF-180-S1-C-H

1C30-240-360-SDYJ-E L30-215-E-FT-360-S2-C-H

1C30-240-360-QQYJ-E

L30-215-E-FF-360-S1-C-H

1C30-019-180-SQYJ-E L30-17-E-FF-180-S2-C-H

1C30-019-180-SDWJ-E

L30-17-E-FT-180-S2-0-H

1C30-019-360-SQYJ-E L30-17-E-FF-360-S2-C-H

IC30-019-360-SDWJ-E

L30-17-E-FT-360-S2-0-H

1C30-028-180-SQYJ-E L30-25-E-FF-180-S2-C-H

1C30-028-180-SDWJ-E

L30-25-E-FT-180-S2-0-H

1C30-028-360-SQYJ-E L30-25-E-FF-360-S2-C-H

1C30-028-360-SDWJ-E

L30-25-E-FT-360-S2-0-H

1C30-047-180-SQYJ-E L30-42-E-FF-180-S2-C-H

IC30-047-180-SDWJ-E

L30-42-E-FT-180-S2-0-H

1C30-047-360-SQYJ-E L30-42-E-FF-360-S2-C-H

1C30-047-360-SDWJ-E

L30-42-E-FT-360-S2-0-H

1C30-073-180-SQYJ-E L30-65-E-FF-180-S2-C-H

IC30-073-180-SDWJ-E

L30-65-E-FT-180-S2-0-H

1C30-073-360-SQYJ-E L30-65-E-FF-360-S2-C-H

1C30-073-360-SDWJ-E

L30-65-E-FT-360-S2-0-H

1C30-105-180-SQYJ-E L30-95-E-FF-180-S2-C-H

IC30-105-180-SDWJ-E

L30-95-E-FT-180-S2-0-H

1C30-105-360-SQYJ-E L.30-95-E-FF-360-S2-C-H

IC30-105-360-SDWJ-E

L30-95-E-FT-360-S2-0-H

1C30-140-180-SQYJ-E L30-125-E-FF-180-S2-C-H

IC30-140-180-SDWJ-E

L30-125-E-FT-180-S2-0-H

1C30-140-360-SQYJ-E 1.30-125-E-FF-360-S2-C-H

IC30-140-360-SDWJ-E

L30-125-E-FT-360-S2-0-H

1C30-180-180-SQYJ-E L30-165-E-FF-180-S2-C-H

IC30-180-180-SDWJ-E

L30-165-E-FT-180-S2-0-H

1C30-180-360-SQYJ-E L30-165-E-FF-360-S2-C-H

IC30-180-360-SDWJ-E

L30-165-E-FT-360-S2-0-H

1C30-240-180-SQYJ-E L.30-215-E-FF-180-S2-C-H

1C30-240-180-SDWJ-E

L30-215-E-FT-180-S2-0-H

1C30-240-360-SQYJ-E L30-215-E-FF-360-S2-C-H

IC30-240-360-SDWJ-E

L30-215-E-FT-360-S2-0-H

1C30-019-180-QQWJ-E

L30-17-E-FF-180-S2-0-H

IC30-019-360-QQWJ-E

L30-17-E-FF-360-S2-0-H

IC40 Series

1C30-028-180-QQWJ-E

.30-25-E-FF-180-S2-0-H

1C30-028-360-QQWJ-E

L30-25-E-FF-360-52-0-H

ICFP Number Helac Part Number

1C30-047-180-QQWJ-E

L.30-42-E-FF-180-S2-0-H

1C40-030-220-HDWJ-E T20-25-E-FT-220-S1-0-H

1C30-047-360-QQWJ-E

L30-42-E-FF-360-S2-0-H

1C40-050-220-HDWJ-E T20-45-E-FT-220-S1-0-H

1C30-073-180-QQWJ-E

L30-65-E-FF-180-S2-0-H

1C40-067-220-HDWJ-E T20-60-E-FT-220-S1-0-H

1C30-073-360-QQWJ-E

L30-65-E-FF-360-S2-0-H

1C30-105-180-QQWJ-E

L30-95-E-FF-180-S2-0-H

IC40-028-220-HDYJ-E T20-25-E-FT-220-S1-C-H

1C30-105-360-QQWJ-E

L30-95-E-FF-360-S2-0-H

1C40-050-220-HDYJ-E T20-45-E-FT-220-S1-C-H

1C30-140-180-QQWJ-E

L30-125-E-FF-180-S2-0-H

IC40-067-220-HDYJ-E T20-60-E-FT-220-S1-C-H

1C30-140-360-QQWJ-E

L.30-125-E-FF-360-S2-0-H

1C30-180-180-QQWJ-E

L30-165-E-FF-180-S2-0-H

1C40-030-22-OHWJ-E T30-27-E-FT-220-S1-0-H

1C30-180-360-QQWJ-E

L30-165-E-FF-360-S2-0-H

1C30-240-180-QQWJ-E

L30-215-E-FF-180-S2-0-H

1C30-240-360-QQWJ-E

L30-215-E-FF-360-S2-0-H

IC30-019-180-SDYJ-E

L30-17-E-FT-180-S2-C-H

1C30-019-360-SDYJ-E

L30-17-E-FT-360-S2-C-H

IC30-028-180-SDYJ-E

L.30-25-E-FT-180-S2-C-H

icfluidpower

International Hydraulic Components

Helac Drop-In Replacement | 16



Counterbalance Valve Block

IC10, IC20, IC30 Series

Optional factory mounted counterbalance valves prevent rotation in the event of a hydraulic line failure,
control rotation when loads go over center, and protect the actuator against excessive torque loads.
Counterbalance valves may also be purchased separately and added at a later time. Spare parts for the
counterbalance valve are available.

Counterbalance Valve Guide

Part Number

Application

ZM0021260A
Aluminum
6061

IC10-002-series

IC10-003-series

|IC10-006-series

IC10-010-series

IC10-016-series

IC10-027-series

|C20-005-series

|IC20-009-series

|C20-016-series

IC30-019-series

|IC30-090-series

ZM0021270
Steel 1045

IC20-027-series

|C20-042-series

IC30-028-series

ZM0021280
Steel 1045

IC30-047-series

IC30-073-series

IC30-105-series

IC30-140-series

IC30-180-series

IC30-240-series

IC30-285-series

21260A Counterbalance Valve Block

Manufactured from aluminum, the valve blocks are bolted to a flat mounting
pad on the actuator housing. Three bolts secure the valve block to the
actuator. See each invidual series page for specific valve locations.

The pilot ratio is 3:1. The valves are set to relieve at 3,300 psi (228 bar).

21270 Counterbalance Valve Block

Manufactured from steel, the valve blocks are bolted to a flat mounting pad
on the actuator housing. Three bolts secure the valve block to the actuator.
See each invidual series page for specific valve locations.

The pilot ratio is 3:1. The valves are set to relieve at 3,300 psi (228 bar).

21280 Counterbalance Valve Block

Manufactured from steel, the valve blocks are bolted to a flat mounting pad
on the actuator housing. Valve locations and plumbing routing differ among
sizes. See each invidual series page for specific valve locations.

The pilot ratio is 3:1. The valves are set to relieve at 3,625 psi (250 bar).

17 | Counterbalance Valve Block

®
E icfluidpower
International Hydraulic Components



The IC Difference

The Power Behind the Part

Connecting you to world-class quality hydraulic components

IC-Fluid Power, Inc. helps companies
achieve sourcing excellence through a
range of services including engineering and
hydraulic component design, outsourcing
partner selection and transition, strategic
implementation  and  support, and
logistics management. We help provide
sourcing strategies for organizations
looking to expand their current scope
for sourcing hydraulic components.

We help engineers, purchasing departments
and project managers source the world

for  hydraulic ~ components  without
the need to invest significant time
and resources developing an internal

sourcing team, learning languages and
cultures and establishing the direct
relationships necessary to be successful.

Our Broad In-House Capabilites:
 Mult-lingual staff
« Deep product knowledge
« Experienced freight brokers

« Factory authorized and trained
repairs

« Highly customized hydraulic systems
« Product demonstrations

« Project management

« Replacement parts

« Technical expertise and support

Our experienced freight brokers ensure
that freight moves quickly through customs
and is delivered to your location on time,
giving you peace of mind. IC-Fluid provides
you with the solution, without the hassle.

Our Industries:

» Aerospace « Metals

« Agriculture « Military

« Construction  Mining

« Energy » Packaging

 Entertainment « Plastics &

« Marine & Injection Molding
Offshore  Transportation

« Material « Waste-
Handling Management

icfluidpower

International Hydraulic Components

The IC Difference | 18



www.icfluid.com
+1.419.661.8811 Tel

+1.419.661.8844 Fax
us@icfluid.com

|C-Fluid Power, Inc.
63 Dixie Hwy
Rossford, OH 43460

®
E icfluidpower
International Hydraulic Components

Rotary Actuator Catalog v2 / May 23




